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QUESTION 1

Which storage manager allows specification of a larger size than others for BAR_XFER_BUF_SIZE?
A. Informix Storage Manager (ISM)

B. Informix Primary Storage Manager (PSM)

C. Informix Secondary Storage Manager (ISSM)

D. Informix Archive Restore Storage Environment (IARSE)

Correct Answer: B

QUESTION 2

Which one keyword in this query makes the AVG an OLAP window expression instead of the regular aggregate
operator? SELECT AVG(SUM(dollars)) OVER() FROM sales;

A. SUM

B. OVER

C. FROM

D. AVG (SUM(dollars))

Correct Answer: B

QUESTION 3

Which Enterprise Replication command CANNOT be used on replicates that include TimeSeries columns?
A. cdr start

B. cdr sync

C. cdr realize

D. cdr remaster

Correct Answer: D

QUESTION 4
Which option maximizes performance in an Informix Warehouse (DSS) environment?

A. Higher value of LOGBUFF.
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B. Higher value of PHYSBUFF.
C. Higher value of BUFFERPOOL and lower value of DS_TOTAL_MEMORY.
D. SHMTOTAL set to 0 to allow Informix to access all available physical memory.

Correct Answer: D

QUESTION 5

Which two statements are true about blobspace? (Choose two.)

A. The TEXT or BYTE objects are stored in the logical log files.

B. A blobspace is a logical storage unit that stores only TEXT and BYTE data.

C. The TEXT or BYTE objects that are assigned to a blobspace are physically logged.

D. A newly created blobspace is immediately available for storage of TEXT or BYTE data.

E. The database server writes data stored in a blobspace directly to disk without passing it through the bufferpool.

Correct Answer: BE
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